110mH

JIEN:  EodE JEH K4 BN A ER ik il A
1 14. 04 1.2 A BT IR N 2 Bk JEHAIC HoE 7/1
2 14. 23 1.5 ANES| 2 iR ML EHRIR filie Kt & filia K 7/22
3 14. 40 0.3 I FE PN 4 fEER HikIc FF 5/13
4 14. 61 1.5 1T i h fili5 K2 4 fEEE e Rt = il R 7/22
5 14. 69 0.3 THE B PR 2 ETR HAkIc FRF 5/13
6 15. 13 1.0 THE H AL KE: 4 JegiE £ K {1 il 7/30
7 15. 21 0.8 KINNIR— LK 3 RKHIR b HKIC H3F 7/1
8 15. 27 -0.5 £ gt EAEERERT 2 HARE b B ARIC HI3F 7/1
9 15. 30 -1.0 ik il K 4 1B e e I bHoF 7/15
10 15.34 0.3 PR B E ALK 2 EHR RPN 17 s\ gl 7/30
11 15.35 0.5 WS ACHE N 3 BiER £ K A=A 7/30
12 15.39 0.7 -3 KX fili5 K& 1 EHRR filie Kt = filia K 11/3
13 15.45 1.4 W% i = PR Y b HAIC Ho5F 7/2
14  15.86 2.0 A A B N 4 EHRIR b BARIC HoF 7/1
15  15.87 -0.8 i # BAEFRERT: 3 EIRIR ALK A K H 10/21
16  15.88 -1.1 AR by WAL K 2 FKH R b Kk FLIR 6/3
17 15.95 0.6 N il K 3 Ik [ IR g K 7/8



